(RARNELL)

gz [Fmvs| K2R | BEE BEBF4 2 | @ |YDS|Long[ TD
1 T ESE PN 1 B BA 4 2l 12 8 0
1 T BiEE 2 |5 E 4 2 0 0 0
1 T BiEE 59 |E@E #X 4 2 0 0 0
4 T N 20 (KM@l EX 4 1 0 0 0
41 T EBK | 34 |EE E=H 4 1 0 0 0
4 T IHK | 31 AR E£1E 4 1 0 0 0
41 T IHK | 80 [AKX fKHA 4 1 0 0 0
4 T BEX | 80 |FH &N 4 1 0 0 0
41 T BAsA 21 |@EN EH 4 1 0 0 0
41 T BAK | 38 |miE EiE 4 1 0 0 0
41 T AixX | 21 [ BE 4 1 0 0 0
41 T BiEK | 99 |E5 MAER 4 1 0 0 0
41 T BiRA 10 [#E EA 3 1 0 0 0
4 T BfEHE 31 (BB R 3 1 0 0 0
4 T fmRK | 90 (B =EE 3 1 0 0 0
41 T BAX 9 |ludh FEEE 2 1 0 0 0
4 T hmRK | 40 [BHE EE 1 1 0 0 0
4 T BiAX 7 |#Ekx M 1 1 0 0 0




